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NEW QUESTION 17

Statement 1: When Windows mounts a CIFS share with the same IP address (domain name or machine name), the same user can

mount one or more shares at the same time, but different users cannot mount the same or different shares.

Statement 2: When Windows mounts the Homedir share with the same IP address (domain name or machine name), multiple users

cannot mount multiple shares.

*  Statement 1 is correct, Statement 2 is correct

*  Statement 1 is correct, Statement 2 is wrong

*  Statement 1 is wrong, Statement 2 is correct

*  Statement 1 is wrong, Statement 2 is wrong

NEW QUESTION 18
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In a 30 TB storage resource pool, an enterprise created three 10 TB Thin LUN for the online transaction system, mail system and

backup system. Since the company has just started, there is very little data on the online transaction system and mail system. The

amount of old data that the backup system needs to import is about 20 TB, and the amount of data exceeds the size of the Thin LUN,

causing write failure.

*  True

*  False

NEW QUESTION 19

What are the data protection methods of RAID? (Multiple Choice)

*  Mirror

*  Parity check algorithm

*  Data striping method

*  JBOD

NEW QUESTION 20

In the Huawei OceanStor V3 storage system, one LUN can create multiple snapshots, but only one snapshot can be in the activated

state.

*  True

*  False

NEW QUESTION 21

LUNs can be allocated to different ports to complete different services and form physical isolation.

*  True

*  False

NEW QUESTION 22

In the Huawei Ocean Stor storage system, when creating a clone, the original LUN can be a Thick LUN or Thin LUN, and the

secondary LUN can only be a Thin LUN.

*  True

*  False

NEW QUESTION 23

An enterprise needs to purchase backup media for data backup. It must inherit the enterprise&#8217;s original tape backup structure

and strategy and increase the backup speed. What kind of backup media does this company buy?

*  Disk array

*  Virtual tape library

*  Tape library

*  CD Tower

NEW QUESTION 24

Regarding the characteristics of the four disaster recovery modes of active-active, hot standby, warm standby, and cold standby,

which of the following statement is wrong?

*  The RTO time of the data center adopting the cold standby mode is long and unpredictable.

*  The data center with the active-active mode has the shortest RTO time.
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*  When the service is unavailable due to a data center failure, the hot standby and active-active modes can automatically switch

services with software, while the warm standby mode requires manual intervention, and the cold standby mode requires strong

manual intervention.

*  Hot standby mode requires the highest software cost.

NEW QUESTION 25

In Huawei OeanstorV3, which of the following statements about cloning are correct? (Multiple Choice)

*  There can be only one master LUN in a clone, and multiple slave LUNs can be added, but the master LUN and all slave LUNs are

a pair.

*  To ensure data consistency during the initial synchronization of the cloned master-slave LUN, the host business will be

suspended.

*  After synchronization is completed, if host I 0 is written, it will be written to both the master LUN and the slave LUN at the same

time.

*  After splitting and resynchronizing, incremental synchronization will be performed.

NEW QUESTION 26

The SCSI bus assigns a unique ID to each device, and can support up to 8 devices. On the one hand, the device ID is used to address

and the other is to identify the priority of the device in the use of the bus.

*  TRUE

*  FALSE

NEW QUESTION 27

Which of the following are not required components in the FC SAN environment? (Multiple choice)

*  Storage equipment

*  FC switch

*  FC HBA

*  Windows operating system

NEW QUESTION 28

Which of the following is not a backup type?

*  Full backup

*  Cumulative incremental backup

*  Differential incremental backup

*  Real-time backup

NEW QUESTION 29

When does data become information?

*  When it has been stored in the correct file format

*  When the data has been stored in digital form

*  When the company understands the meaning of the data and extracts the content needed for decision-making from it

*  When the data has been verified to be correct

NEW QUESTION 30

Statement 1: FC protocol and FCoE protocol have different operating environments, different operating channels, and the same
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protocol stack.

Statement 2: FCoE can only run on 10GE, which solves the problem of short FC transmission distance and packet drop in IP

network.

*  Statement 1 is correct, Statement 2 is correct.

*  Statement 1 is correct, Statement 2 is wrong.

*  Statement 1 is wrong, Statement 2 is correct.

*  Statement 1 is wrong, Statement 2 is wrong

NEW QUESTION 31

A company has newly purchased a batch of mainframes and storage equipment, and will deploy the company&#8217;s important

business according to the plan. The storage network is required to have low latency, high performance, large bandwidth, lossless

transmission, and can support Ethernet transmission. Which of the following protocol needs to be selected?

*  FC protocol

*  FCoE protocol

*  IB protocol

*  SAS protocol

NEW QUESTION 32

Create a Thin LUN on Huawei OceanStor V3 with a capacity of 100G and an initial allocated capacity of 10G. After the LUN is

mapped to the Windows 2012 host, the corresponding disk is scanned on the host. The displayed capacity of the disk should be 10G.

*  True

*  False

NEW QUESTION 33

What are the correct analysis of the dual-control architecture storage subsystem? (Multiple Choice)

*  Only for high-end storage

*  In Active-Active, only one controller receives data requests in the same time period

*  In Standby, the controller does not receive data requests and does not 0 hard disks

*  There are two working formats: Active-Active, Standby

NEW QUESTION 34

A company&#8217;s applications and data have high security requirements. During the inspection, it was found that two NL-SAS

hard disks were offline and the data was lost. In order to avoid this situation, it is necessary to complete the RAID configuration and

require the utilization of the hard disk. To be greater than 60%, which of the following are eligible? (Multiple Choice)

*  Use 6+2P hard drives to create RAID 6

*  Use 4+P hard disk to create RIAD 5

*  Use 4+2P hard drives to create RAID 6

*  Use 2+2P hard drives to create RAID 6

NEW QUESTION 35

What are the common time indicators to measure the reliability of a system? (Multiple choice)

*  Reliability

*  Effective

*  average time to failure
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*  average time between failures

NEW QUESTION 36

Two CKs in a CKG of RAID 2.0+ can come from the same hard disk.

*  True

*  False
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